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1. ��3Í¯�A, B, C, Í�A�B, A�C/}ñ, ¬A�B ∪ C�}ñ�

2. 'bnÍ��, ÏrÍ���br − 1ÍR¦Cn − rÍç¦, r = 1, · · · , n�
�^ó×�, ¬�����^ãÞ¦(Ngã�¡�w/)��O(¬;�)

(i) XãÏÞÍ¦
ç¦�^£;

(ii) uã��Ï×Í¦
ç¦, JXãÏÞÍ¦
ç¦�^£�

3. 'X1, · · · , Xn
 i.i.d. U(0, 1)5µ�r.v.’s, X(1) ≤ X(2) ≤ · · · ≤ X(n)�Í5�Ù�
���X(0) = 0, X(n+1) = 1�ê�Uk = X(k) −X(k−1), 1 ≤ k ≤ n + 1�

(i) �OUk�p.d.f.; (105)

(ii) �¼�Ukb£×ð�5µ, ¬��¢ó; (55)

(iii) �OP (Uk > t), 0 ≤ t ≤ 1�(55)

4. 'X1, Y1, X2, Y2
i.i.d. N (0, 1)5µ�r.v.’s�3x − y¿«î, �C1
|(0, 0)
i
T, (X1, Y1)3iøî�i; C2
|(0, 0)
iT, (X2, Y2)3iøî�i��OÞi
«�-�y1�^£�

5. 'X1, X2, · · ·
}ñ, vXibU(0, i)5µ, i ≥ 1��O

(i) P (Xn < Xn−1 < · · · < X2 < X1), n ≥ 2;

(ii) P (X1 < X2 < X3)�

6. 'b×^£è (Ω,F , P ), Í�Ω = (0, 1], F
�âΩîXb�  �t�Ýσ-�,

vP (I) = I���, Í�I
Ω���  ��X(ω) = ω, ∀ω ∈ Ω,

Y (ω) =

{
3/2, ω ∈ (0, 1/2],

1/2, ω ∈ (1/2, 1]�

�5½O(i) Y , (ii) X + Y�5µÐó�


